
PRODUCTOS NOTABLES ( EJERCICIOS 3 )

Complete la tabla siguiente:

Factorizado Desarrollado

  1. ( d  –  5 ) 2 =

  2. ( q  –  8 ) 2 =

  3. ( m  –  3 n ) 2 =

  4. ( 4 m  –  n ) 2 =

  5. ( 5 u  –  3 v ) 2 =

  6. ( x 4  –  y 2 ) 2 =

  7. ( d 3  –  4 c ) 2 =

  8. ( 0,3 m 3  –  0,2 n 2 ) 2 =

  9.
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11. ( 2 c 3  –  5 d ) 2 =

12. ( 5 r 5  –  2 s 2 ) 2 =

13. ( 6 a  –  b c ) 2 =

14. ( x 2 y  –  2 z ) 2 =

15. ( 5 m n 4  –  6 p 2 ) 2 =
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RESPUESTAS

Factorizado Desarrollado

  1. ( d  –  5 ) 2 = d 2  –  10 d  +  25

  2. ( q  –  8 ) 2 = q 2  –  16 q  +  64

  3. ( m  –  3 n ) 2 = m 2  –  6 m n  +  9 n 2

  4. ( 4 m  –  n ) 2 = 16 m 2  –  8 m n  +  n 2

  5. ( 5 u  –  3 v ) 2 = 25 u 2  –  30 u v  +  9 v 2

  6. ( x 4  –  y 2 ) 2 = x 8  –  2 x 4 y 2  +  y 4

  7. ( d 3  –  4 c ) 2 = d 6  –  8 c d 3  +  16 c 2

  8. ( 0,3 m 3  –  0,2 n 2 ) 2 = 0,09 m 6  –  0,12 m 3 n 2  +  0,04 n 4
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11. ( 2 c 3  –  5 d ) 2 = 4 c 6  –  20 c 3 d  +  25 d 2

12. ( 5 r 5  –  2 s 2 ) 2 = 25 r 10  –  20 r 5 s 2  +  4 s 4

13. ( 6 a  –  b c ) 2 = 36 a 2  –  12 a b c  +  b 2 c 2

14. ( x 2 y  –  2 z ) 2 = x 4 y 2  –  4 x 2 y z  +  4 z 2

15. ( 5 m n 4  –  6 p 2 ) 2 = 25 m 2 n 8  –  60 m n 4 p 2  +  36 p 4

© NELSON LILLO TERÁN
Julio 2018

http://www.eneayudas.cl
matematicayciencias@gmail.com
(562)23169001  y  +56998581588

http://www.eneayudas.cl/
mailto:matematicayciencias@gmail.com

